AP Calculus BC
9.6 Wérksheét
Show that u and v are equivalent.
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Find the component form of the vector v and sketch the vector with its initial point at the origin.

Find the magnitude of the vector v.
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Perform the following operations on the vectors: 2/3u, 3v,v—u, 2u +5v.
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Find the vector v, given its magnitude and direction.

15. [lvl] = 3,6 = 45° f:?\ ' 16. lvl| = 2,0 = 150°
‘7 é/»ér'wyﬂ* s M*> ' 'l\\»\ V “{T::«{ rose, Fsne >

Y it
V= 30545, 220 2 = L2.0051567, 25T

-
= 3(B) ED ) 2l

. 575 * “

1"7 (%, 2% R=z5.05]




AP Calculus BC . | S Name:

/

9.7 Worksheet ’ | Period:
Find the domain of the vector-valued function. |
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Evaluate (if possible) the vector-valued function at each given time t.
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Sketch the plane curve represented by the vector-valued function and give the orientation of the curve.
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Find r'(t), r(to) and r'(to). Then sketch the plane curve represented by r(t) and sketch the vectors r(to) and ¥'(to). Position
the vectors such that the initial point of r(to) is at the origin, and the initial point of r’(to) is at the terminal point of r'(to).
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AP Calculus BC

9.8 Worksheet

r(t) represents the path of an object movihg ona plane.

Name:

Period:

(a) Find the velocity vector, speed and acceleration vector of the object.

(b) Evaluate the velocity vector and acceleratlon vector of the obJect at the given value of t.

(c) Sketch the graph of the path, and sketch the velocity and acceleration vectors at the given value of t.
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5. r(t) = (2 cos(t), 2sin(t)), t = %
& (‘7[@7-»4—-2%—, zwpx
| W) = £ ~2eo5k -2 $1ED
(g) sbe =y /J’§/ (%

6. r(t) = (t —sin(t),1 —cos(t)),t = &
) [VIe) =L —eost, 510D J
1&9[{’) & sivt, dlﬁf“é?

[;53) { ZSM 2@31—> Vaag I3 r'
[‘7{{) <'Zaa5'7‘{ -'ZSM?{{>—«C’“ 2"

{ b ot £=T1

s D)= <A o1 9= 2,05
[T = <6V\w—,mxz7 Lo = ;7

()

The velbcity vector v(t) and the position of a particle at time t = 0 are given.

(a) Find the position of the particle at time t = 3.

(b) Find the total distance travelled on the interval 0 <t < 3.

(c) Find the posmon vector of the particle.
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9, v(t) = (3t%,2t), (1,2) N - 10.  w(t) = (8t — 1,6t2 + 1), (4,0)
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Use the given information to find the velocity and position vectors. The_n find the posutlon attimet=2.
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